ERRAROBRBIE®RT — 2 X—XBISH—F 20185128248 (B) 20E£R1H
IR+ >%—#% B13 B I
[x&4£] 1%:310,000” ~ 2#%&:71,000”  33%&:37,000”  43%&:27,000M .~ 57 :18,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

S 5 | KEH 1:29.8 1-1-1-1 |38.0| — 1 472 | BARR (£R)
1 : FIEZ PP A # 5.0 ) 45 | ) Tr-ZbEVa>
RiAfavk—5— B:Y>F74T7V34 iy —=
N EFEREA :30. -3-3- . — hnEEFNE (£R)
ol7l 7| Ny smy i 4 s 1(340)7 3-3-3-3 |38.2 2 (4+617) L
L:ZRMN)—hE2X B —L—L—> ®I E—
— s —: = : 00— - £H—8 (£R)
N s BRI GEE E Exa o4 | EW I R s P | s
Y LTAN— B:TAXT TJ7=Z—klNT7—L
Sov g — HEH 132, —6-5- . — JIZBARA (£IR)
N > DEESY K H 7 e 1(352)0 6-6-5-4 | 39.2 5 (5_114) o
LYK YIYRIR BIASCFXHFUZR +H HEF
3,008 4 5 | REXA 1:32.1 10-10-8-5 [ 38.1 | — 9 M1 | BERRRE (£R)
5/8({9| 71~ 54.0 (1/2) (3 | NEE
LN—HINK B:HY T N— | T EBS
.= o2 N :32. —8-9- . — EXRE (&R
6 4| Fr—LES17 1 e 1(322)5 8-8-9-9 |38.9 10 (4+914) RN -
RiVIWN—Fv—L B:X94—hrIILT TEARS
. ; it 5 | MEBEE 1:33.2 7-7-7-7 | 39.8| — 7 421 | EHEX (£R)
7018 | 7A VDA =T N * 56.0 ® o) | B Fr—2rEvar
R:T7RvA4YL—> B:U4y7aA° K BINET 7 — LI
5, = 4 6 | HREBR 1:33. 4-4-6-7 |40.1| — 6 479 | BIERZ (£R)
8111 AAHT 5.0 (5 E) (-5) (%) T. U. K
R:A—-FINh7z B h>/V3 A AR
s g = o $HARK— :33. ~4-4~ . — A _ (&R
9|5|5|>77v7=UT s 54.0 1(13/32>4 draat |08 ! (4_‘2) =izt
LR8F2—ATUNF1 BTFAT724-UZ BLEMS
- 44 | BHBTE 1:33.4 9-9-10-10 | 39.8 | — 8 475 | BAEET (&R)
10/ 8 (10 NT 56.0 (74%) 42) HARE—
RV TATIAL R B:YTF14T514 b FEAHis

® 1—F—@EBIERL
1T=7r= 3,6,7,(1,5),2,8,4,10,9
2a=5F= 3,6,7,(1,5),2,8,4,10,9
Ja=5= 3,6,7,5,2,1,8,9,4,10
40—+ — 3,6,7,2,9,5,(1,8),4,10

[ /N
B 3 110 714K 3-7 200 e E 3-7 500 JEE 3-6-7 420M
B B 3 1004 3-6 150H e B Sl 630M EE 3-7-6 1,880H

7 1504 6-7 350M B & 3-7 510M
6 1309 B H 3-7 500

ABICOVWTRDTEEERROODE. TR LIV,




